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MATHS

BOOKS - SELINA MATHS (ENGLISH)

MATRICES

. . zT—2 vy 0 3
1. Find the values of x,y,a and b, if : =
a/2 b+1 15

° Watch Video Solution

2.let A = 5 4 . B = _3OandC: 1_3,ﬁnd:
3 —2 1 4 0 2

(i) A+B and B+A (ii) (A+B)+C and A+(B+C)

(iii) Is A+B=B+A? (iv) Is (A+B) +C=A+(B+C)?

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_gUz9zkBaMS2M
https://dl.doubtnut.com/l/_dTMxehgq1V6n

3.fA 5 4 B 21 dC _32ﬁd
AT g 1P T 0 e PEY T 1 oM

(i) A+C (ii) B-A (iii) A+B-C

o Watch Video Solution

21 3
4 -3 2

matrices A® and B:.If possible, find (i) A + A? (ii) B + Bt

3 -2

4. If matrix A = [ } and B = l }, find transpose

o Watch Video Solution

5If A = 8 6 and B = —3 5 then solve for 2 x 2 matrix
-2 4 1 0

X such that

(i) A+X=B

(ii) X-B=A

° Watch Video Solution



https://dl.doubtnut.com/l/_dTMxehgq1V6n
https://dl.doubtnut.com/l/_M5U5FLzy4uW4
https://dl.doubtnut.com/l/_QKFUNbr6r2PT
https://dl.doubtnut.com/l/_iz098bNVHjyL
https://dl.doubtnut.com/l/_Ss9BNkqbQbL8

on a1, o] 7 Mmoo 00]

find A+2B-3C.

o Watch Video Solution

7. Given matrix A = [ .

5
3] and matrix B = [

} find matrix X

such that : A+2X=B.

° Watch Video Solution

-2 3 1 2 . .
8.fA = and B = , find (i) AB (ii) BA
4 1 3 5
(iii) Is AB=BA?
(iv) Write the conclusion that you draw from the result obtained above in

(iii).

° Watch Video Solution



https://dl.doubtnut.com/l/_Ss9BNkqbQbL8
https://dl.doubtnut.com/l/_lV8rcUa7nPIi
https://dl.doubtnut.com/l/_cBAbewoyTYx4

-3 3

9.let A =
¢ [ 2 -2

4 6
] and B = [ 4 6]’ find the matrix AB. Write

the conclusion, if any, that you can draw the result obtained.

° Watch Video Solution

10.If A = 4o , B = 65 and C' = 23 show
-3 3 30 -1 =2

that AB=AC. Write the conclusion, if any, that you can draw from the result

obtained above.

° Watch Video Solution

2 —1

mif A= l
—1

] evaluate A% — 34 + 3I, where | is a unit

matrix of order 2.

° Watch Video Solution



https://dl.doubtnut.com/l/_ifkluV36ThXo
https://dl.doubtnut.com/l/_tpSjqlwTOEkU
https://dl.doubtnut.com/l/_M08JemjC2EA5

3 5 2
12. If A= l 4 _21 and B = [ 4] is the product AB possible?.

Give a reason, if yes, find AB.

° Watch Video Solution

1B.fA = 5 2 and B = Lo ,find :
0 5 1 2

(i) (A+B) (A-B) (ii) A2 — B2 (iii) Is(A + B)(A — B) = A% — B2?

° Watch Video Solution

. 3 —8 T -2
14. Given = ,find xand y.
9 4 Y 8

o Watch Video Solution

15. If B and C are two matrices

such

that

1 3 17 7
B = [ 0] and C = [ ], find the matrix M so that

—4 -8


https://dl.doubtnut.com/l/_GwtpP1g8uixG
https://dl.doubtnut.com/l/_Hk3vHoa98CTn
https://dl.doubtnut.com/l/_O4hgBHNuj4A3
https://dl.doubtnut.com/l/_aoniTrrsLRjB

° Watch Video Solution

6

16. Find the matrix M, such that M x [ 9 _g

]:[—2,16]

o Watch Video Solution

17. State with reason, whether the following are true or false, AB, and C
are matrices of order 2 x 2
(i) A.B=B.A (ii) A. (B.C)=(A.B).C

(i) (A+ B)’ = A2+ 2AB+ B (W) A.(B+C) = A.B+ A.C

o Watch Video Solution

1. State whether the following statements are true of false. If false, give a

reason.


https://dl.doubtnut.com/l/_aoniTrrsLRjB
https://dl.doubtnut.com/l/_m3tdNybT7UAh
https://dl.doubtnut.com/l/_x7haMljeZCMQ
https://dl.doubtnut.com/l/_MyJ1EUlbjAJ7

If A and B are two matrices of orders 3 x 2 and 2 x 3 respectively, then

their sum A+B is possible.

° Watch Video Solution

2. State whether the following statements are true of false. If false, give a
reason.

The matrices A, 3 and B, 3 are conformable for substraction.

° Watch Video Solution

3. State whether the following statements are true of false. If false, give a
reason.

Transpose of a 2 X 1 matrix is a 2 X 1 matrix.

° Watch Video Solution



https://dl.doubtnut.com/l/_MyJ1EUlbjAJ7
https://dl.doubtnut.com/l/_7s1ZnmvTElBS
https://dl.doubtnut.com/l/_Vfo7mo2KT4Ou

4. State whether the following statements are true of false. If false, give a
reason.

Transpose of a square matrix is a square matrix.

° Watch Video Solution

5. State whether the following statements are true of false. If false, give a
reason.

A column matrix has many columns and only one row.

° Watch Video Solution

+ 2
6. Given l y ]

31
= find x,y and z.
3 z—1

3 2

o Watch Video Solution



https://dl.doubtnut.com/l/_fnlB4tGktXLo
https://dl.doubtnut.com/l/_AOSXnqmYATID
https://dl.doubtnut.com/l/_Qc3i51J15zcz

7.Solve for a,b and ¢, if,
0 —4 a+5 b+4 2
! 3 2 - 3 c—1

. [ a a—b] [ 3 —1]
(ii) =
b+c 0 20

o Watch Video Solution

8.f A =1[8, — 3] and B = [4, — 5] find, (i) A+B (ii) B-A

o Watch Video Solution

sia=| 25| Jaac=| ° |
5 4 -2

(i) B+C (ii) A-C

(iii) A+B-C (iv) A-B+C

° Watch Video Solution



https://dl.doubtnut.com/l/_kbSy2Jcu5pfn
https://dl.doubtnut.com/l/_qcTiKT4GHn2H
https://dl.doubtnut.com/l/_oWOFeP2HYeo5

10. Wherever possible write each of the following as a single matrix.
) 1 2 -1 -2
(i) s 4l T 1 _7
(ii) 2 3 4 02 3
ii —
5 6 7 6 -1 0

] 012 3 4
”'l 467]+[ 68]

o Watch Video Solution

1. Find x and y from the following equations:

Ut B P I

(ii)[—8,$]+[y—2]=[—3,2]

° Watch Video Solution

4 } find its transpose matrix M'. If possible, find

5
12. Given : M = l_2

(i) M+M? (i) Mt — M

° Watch Video Solution



https://dl.doubtnut.com/l/_Fvg3UJcbN9kz
https://dl.doubtnut.com/l/_6eoAFNzzTeFY
https://dl.doubtnut.com/l/_8NGU02IRpD8p

13. Write the additive inverse of matrices AB, and C

-2 0 -7
whereA:[6,—5],B:{ 1 _1] a,ndC—{ 4 }

o Watch Video Solution

2 0 —1
14. Given A=l 3], B={2] and C=[ 4 },ﬁnd the matrix X in each of the
following:
(i) X+B=C-A

(i) A-X=B+C

° Watch Video Solution

-1 0 3 -3
15. Given A = and B = find the matrix X
2 —4 -2 0

in each of the following

(i) A+X=B


https://dl.doubtnut.com/l/_8NGU02IRpD8p
https://dl.doubtnut.com/l/_uxmsgSrg00xJ
https://dl.doubtnut.com/l/_B65uD1lTlJwY
https://dl.doubtnut.com/l/_K1Ytm9dFBCmN

(ii) A-X=B

(i1i) X-B=A

° Watch Video Solution

1. Evaluate:
53 9
o)

(i) 7 -1 2
i [ . 1]

(...)2[ -1 0 }+l 3 3}
. 2 _3 5 0

° Watch Video Solution

Ty
o ] )]

| ° Wiak~h \tAAaA CAlLiikiAan


https://dl.doubtnut.com/l/_K1Ytm9dFBCmN
https://dl.doubtnut.com/l/_CSzbJNhA0YHQ
https://dl.doubtnut.com/l/_36jZdf36ncP0
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2 1 11 -3 -1
3.GivenA:[ 3 0],32[ ]andC:{ 5 ],ﬁnd

(i) 2A-3B+C (ii) A+2C-B

° Watch Video Solution

4 —2 -2 =2
4.1f +34 = find A.
4 0 1 -3

° Watch Video Solution

) 1 4 —4 -1
5.Given A = and B =
2 3 -3 -2

(i) find the matrix 2A+B.

0 0
(ii) find a matrix C such that:C—l—B:{ 0 0}

° Watch Video Solution



https://dl.doubtnut.com/l/_36jZdf36ncP0
https://dl.doubtnut.com/l/_9a1KMKCdiAzb
https://dl.doubtnut.com/l/_9zX8cKGBgDsH
https://dl.doubtnut.com/l/_qwwisDM8iZlx

62l 2 F| s 3 Z 7] fnd the values of d
. 0 1 + y 2 = 15 8 , fin e values of x, y an

Z.

° Watch Video Solution

-3 6
0 -9
(i) 24 + 3A! (ii) 24t — 3A

7.Given A = [ } and A'is it transpose matrix. Find :

o Watch Video Solution

1 1
-2 0

8.Given A =
11

|

] Solve for matrix X:

(i) X+2A=B (ii) 3A+B+2X=0

° Watch Video Solution

1
9.f M = [ (1)] and N = [ O] show that 3M + 5N = l 2]

| ° Watch Video Solution |


https://dl.doubtnut.com/l/_5iwZgmC3znRB
https://dl.doubtnut.com/l/_P0zzlmPhCxl9
https://dl.doubtnut.com/l/_HPevmCABn1Sa
https://dl.doubtnut.com/l/_KHGqTulXLXK8

10. If I is the unit matrix of order 2 x 2 find the matrix M, such that

yM_or—3 1
(i) M — _[4 1]

(i) 5M 31—4[ 2 _5]
WOl ol =2 _3

° Watch Video Solution

4 2
1MmIf l 3] + 2M = 3[ 3] find the matrix M.

o Watch Video Solution

1. Evaluate : if possible
(i) [3,2]{ (ﬂ (ii) [1, —2]{ :i 2]

(iii)[ §‘f1H ;1]@)[ gil” ;1}

| o A _L vl . o e~ 1.0


https://dl.doubtnut.com/l/_KHGqTulXLXK8
https://dl.doubtnut.com/l/_nAJJNFgksYlH
https://dl.doubtnut.com/l/_Zr4Q1iOYWhMs
https://dl.doubtnut.com/l/_t8zVIWkXUBOm

L vvallll vIiUCO o0IULIVII )]

0 2 1 -1 . : :
2.If A = , B = and is a unit matrix of order
5 —2 3 2

2 x 2find:
(i) AB (ii) BA (iii) Al

(Iv) A% (v) BA

° Watch Video Solution

9 16

3fd—| ° | and B =
01 —y

] find x and y when A% = B.

° Watch Video Solution

4.Find xand y, if :

) 4 3x 5 B
(I)l$_2H 1}—[3/8]

B z 0 1 1] 2 2
ol Zaall o ul=l S

o Watch Video Solution



https://dl.doubtnut.com/l/_t8zVIWkXUBOm
https://dl.doubtnut.com/l/_WPWLBR5mZNAb
https://dl.doubtnut.com/l/_KWlyw6f8Ae07
https://dl.doubtnut.com/l/_sU2UuQkFZ91I

sifa— | 3 B Y2 aac=] * 3 Fing
AT g 4P T g 3BT g ot

(i) (AB) C (ii) A (BC)

s A(BC) = (AB)C'?

° Watch Video Solution

0 1
] and B = —1 2 |, is the following

6. Given A = {
-5 —6

possible

(i) AB (i) BA (iii) A2

° Watch Video Solution

21 4 1 -3 2
e = | |5 Jaac=| “7 73] rina
0 -2 2 1

A% + AC - 5B.

° Watch Video Solution



https://dl.doubtnut.com/l/_QLwUr4K2lue7
https://dl.doubtnut.com/l/_jXQQng985Rg8
https://dl.doubtnut.com/l/_HLDH2OSoCLWG
https://dl.doubtnut.com/l/_Czgt4kO27HWh

1 2
8.If M = [ 5 1] and | is a unit matrix of the same order as that of M,

show that M2 = 2M + 31

o Watch Video Solution

—b 1 —1
ofa=| 2% p=| ° M= and BA = M?
0 2 10 11

, find the values of a and b.

° Watch Video Solution

10.Gi A= 41 d B = ! 0 Find
.Given A = 23a,n = _201,|n

(i) A-B (ii) A?

(iii) AB (iv) A2 — AB + 2B

o Watch Video Solution



https://dl.doubtnut.com/l/_Czgt4kO27HWh
https://dl.doubtnut.com/l/_jIe9iB26kWgv
https://dl.doubtnut.com/l/_C4Vwelp8bFaB

MIfA 14 d B 2 find
. = _3 an = IFRRL nd:
(A + B)?
° Watch Video Solution
. o 2 1 , 1
12. Find the matrix A, if B = 01 and B = B + EA'

o Watch Video Solution

-1 1

BAFA = [
a b

] and A% = I,find aand b.

° Watch Video Solution

14. IfA:[ 2 1],32[ 2 31 andC:[ ! 4] then show

4 1 0 2

that
(i))A(B+C) = AB + AC

(ii) (B — A)C = BC — AC.


https://dl.doubtnut.com/l/_TPh2L0S4idpI
https://dl.doubtnut.com/l/_JZpQSuBn3Bik
https://dl.doubtnut.com/l/_imm1lKhN6ZqQ
https://dl.doubtnut.com/l/_VwcVpwNdGT5h

° Watch Video Solution

sofa=| =] T aac=| F Y] simpi
. = 5 11°B= 4 ol 2 = Ozslmplfy.

A% + BC.

° Watch Video Solution

16. Solve for x and y

o sl o)1
(ii)[m+y,:c—4][ 2_1 2_21 =[—7, —11]

w 70 2 - 2

° Watch Video Solution

=

17.1n each case given below, find :

the order of matrix M,


https://dl.doubtnut.com/l/_VwcVpwNdGT5h
https://dl.doubtnut.com/l/_aFrCsbg0vodd
https://dl.doubtnut.com/l/_1dG8iOuJdL6q
https://dl.doubtnut.com/l/_HbOF3oeCGLvm

(i) M x l (1) ;1 =1,2]

° Watch Video Solution

2 4 36
18.IfA:l 0 T] andB:l 01 ],ﬁndthevalueofx,given that

A’ =B

o Watch Video Solution

2 1 -
19.If A = 37,B= 0 and C = | Find AB-
2 4 5 3 —4 6

5C.

° Watch Video Solution

20.If A and B are any two 2 X 2 matrices such that AB=BA=B and B is not a

zero matrix, what can you say about the matrix A ?

| ° Watch Video Solution


https://dl.doubtnut.com/l/_HbOF3oeCGLvm
https://dl.doubtnut.com/l/_7SlNtyyDgO1S
https://dl.doubtnut.com/l/_K17UnjyaCY4g
https://dl.doubtnut.com/l/_us7jG91qUZgO

b
21. Given A = [ 3 0] , B = l @ } and AB=A+B, find the values of

0 4 0 c

a,b and c.

o Watch Video Solution

_ 1 2 40— 10
22.If P = [ 5 _1] and Q = l 5 1] then compute :
() P* = @ (i) (P + Q)(P - Q)

Is (P+Q) (P-Q) = P? — @? true for matrix algebra?

° Watch Video Solution

23. Give the matrices :

A:[ 2 1],32[ 3 4 ]andC':[ —3 }.Find:
4 2 -1 -2 0 —2

(i) ABC (ii) ACB.

State whether ABC=ACB.

° Watch Video Solution



https://dl.doubtnut.com/l/_us7jG91qUZgO
https://dl.doubtnut.com/l/_aZxpzzytEw9a
https://dl.doubtnut.com/l/_Nm8ism1wGZum
https://dl.doubtnut.com/l/_JXVPp4WjC5kI

24.1f A = L2 , B = 61 and C' = —2 -3 . Find each
3 4 11 0 1

of the following and state if they are equal:

(i) CA+B (ii) A+CB

° Watch Video Solution

3

21
25.1f A = l 1 3] and B = [ 11] . find the matrix X such that

AX=B.

° Watch Video Solution

4 2
26.|fA:[ . 1],ﬁnd(A—2I)(A—3I).

° Watch Video Solution



https://dl.doubtnut.com/l/_JXVPp4WjC5kI
https://dl.doubtnut.com/l/_dvsnb7M8YJsI
https://dl.doubtnut.com/l/_wqyryjPiSwmG
https://dl.doubtnut.com/l/_LWiff4zFLAe0

1 -1
01 -2

(i) AL, A (i) A. At

27.1f A = [ 1 find:

where A' is the transpose of matrix A.

° Watch Video Solution

4

1
28. If M = l 2} show that 6M — M2 = 9], where 1 is a 2 x 2

unit matrix.

o Watch Video Solution

3z
29.If P = l ] and @ = l 5 ] . find x and y such that PQ=null

Yy

matrix.

° Watch Video Solution



https://dl.doubtnut.com/l/_2m7q1dd7JXx6
https://dl.doubtnut.com/l/_JS14yRgfWrw5
https://dl.doubtnut.com/l/_BIHUQTySfUdx

30. Evalutate:

2cos 60°, — 2sin30° cot 45°, cos ec30°
—tan45°, cos0° sec60°, sin90°

o Watch Video Solution

31. State with reason, whether the following are true of false. A, B and C
are matrices of order 2 x 2.

A+B=B+A

o Watch Video Solution

32. State with reason, whether the following are true of false. A, B and C
are matrices of order 2 x 2.

A-B=B-A

o Watch Video Solution



https://dl.doubtnut.com/l/_vxQmuYKKxE6z
https://dl.doubtnut.com/l/_OKcv5ssexK3P
https://dl.doubtnut.com/l/_7YM8B00cAVUe

33. State with reason, whether the following are true of false. A, B and C
are matrices of order 2 x 2.

(B.C).A=B.(C.A)

° Watch Video Solution

34. State with reason, whether the following are true of false. A, B and C
are matrices of order 2 x 2.

(A+B).C=A.C+B.C

° Watch Video Solution

35. State with reason, whether the following are true of false. A, B and C
are matrices of order 2 x 2.

A.(B-C)=A.B-A.C

° Watch Video Solution



https://dl.doubtnut.com/l/_MMZ0NHj3nKF3
https://dl.doubtnut.com/l/_FGjDPz3W2kKt
https://dl.doubtnut.com/l/_Or6oVVEYbLEn
https://dl.doubtnut.com/l/_rJD6QxHxHyvT

36. State with reason, whether the following are true of false. A, B and C
are matrices of order 2 x 2.

(A-B).C=A.C-B.C

° Watch Video Solution

37. State with reason, whether the following are true of false. A, B and C

are matrices of order 2 x 2.

A?* - B*=(A+ B)(A - B)

° Watch Video Solution

38. State with reason, whether the following are true of false. A, B and C

are matrices of order 2 x 2.

(A— B)> = A’ — 2A. B + B

° Watch Video Solution



https://dl.doubtnut.com/l/_rJD6QxHxHyvT
https://dl.doubtnut.com/l/_ZQFZqstZppOn
https://dl.doubtnut.com/l/_IhzEXIPKLH3b

1.Find xand y if

TN I I

° Watch Video Solution

2.Find x and y, if :

[3m8]l 4] —3[2— 7] = 5[3, 2y

7

° Watch Video Solution

T 2z .
3.If[$,y][ y} = [25] and [ — m,y][ y ] = [ —2,]2find xand y if:
(i) z, y € W (whole numbers)

(i) x, y € Z (integers)

° Watch Video Solution



https://dl.doubtnut.com/l/_Vt4dPb3jT3MH
https://dl.doubtnut.com/l/_702mHupXyoSt
https://dl.doubtnut.com/l/_2Ath2iIASKVP
https://dl.doubtnut.com/l/_jVA7MTaSJSMM

4.Gi 2 L X ! Writ
. Given g 4|t X = 6 |- Write:

(i) the order of the matrix X.

(ii) the matrix X.

° Watch Video Solution

5. Evaluate :

cos 45°,sin30° sin45°, cos 90°
v/2c0s0°, sin0° sin90°, cot 45°

° Watch Video Solution

-3

6.1f A = [ 0 _1],32
4 6

[ _5] and 34 x M = 2B, find matrix M.

° Watch Video Solution

7.Ifl Zﬂ+[ ib_2]—[ L i]:l ig]

find the values of a,b and c.



https://dl.doubtnut.com/l/_jVA7MTaSJSMM
https://dl.doubtnut.com/l/_aCFFwoKkvy7N
https://dl.doubtnut.com/l/_dx1Hdn6GYqzu
https://dl.doubtnut.com/l/_RFpcNwruPalt

I & Watch Video Solution

1 2 21
8.IfA = and B = find :
21 1 2

(i) A(BA) (ii) (AB) B.

° Watch Video Solution

o.Findxandyif: | © C|[ 2] = °
. Find Xanay, It : y4y 1 = 12

° Watch Video Solution

. -3 4 2
10. If matrix X = [ ][ 2] and 2X — 3Y = [

2 -3

the matrix 'X' and matrix Y.

10
] find
8

o Watch Video Solution



https://dl.doubtnut.com/l/_RFpcNwruPalt
https://dl.doubtnut.com/l/_RuEBJ2bF2Lg9
https://dl.doubtnut.com/l/_TI2GcM74QYOM
https://dl.doubtnut.com/l/_ZxM7XuymKDig

11. Given A 2_1B
. ven = 2 0 , =

32 mdo=1 1O fing
4 ol YT oo 2™

the matrix X such that A+X=2B+C.

° Watch Video Solution

12. Find the value of X, given that:
2 12 4
01 01

° Watch Video Solution

25 4 -2 . ) . ,
13.If A = , B = and | is the identify matric of
1 3 -1 3

the same order and A’ is the transpose of matrix A, find A'B + BI.

° Watch Video Solution

20 4
the matrix X such that A+2X=2B+C.

14.GivenA:{ 2 _6],3:{ -3 2] andC:{ 4 0}.Find
0 0 2


https://dl.doubtnut.com/l/_RW5w8M6OPff7
https://dl.doubtnut.com/l/_Znj0j4tt09GA
https://dl.doubtnut.com/l/_ayqM844ntwf7
https://dl.doubtnut.com/l/_Bj8eYMefALuX

° Watch Video Solution

6 —3 1 —1 1 -1
Find A> — A + BC.

o a=| o le=| )7 Jaae=| 77

° Watch Video Solution

21

10 2 3
16.LetA:l },B:[ ) O].FindA2—|—AB+B2

o Watch Video Solution

17. If A= 5o , B = c 4 ,C = -1 4 and 3A-
—4 8 -3 0 3 b

2C=6B. Find the values of a,b and c.

o Watch Video Solution



https://dl.doubtnut.com/l/_Bj8eYMefALuX
https://dl.doubtnut.com/l/_pT0HyyJTmVyS
https://dl.doubtnut.com/l/_H9AJgJnGgcaI
https://dl.doubtnut.com/l/_IW4MfzgXVPex

18. Given

_ 2 _2
Ao | PO g | Ve ol and BA = C2.
0 2 10 2 2

Find the values of p and q.

° Watch Video Solution

R ER R S R

AB+2C-4D

° Watch Video Solution

4sin 30° 2cos 60° 4 5
20. Evaluate :

sin 90° 2cos 0° 5 4

o Watch Video Solution

3 1 10
2LIFA = and I = find A2 — 54 + TI.
~-1 2 01


https://dl.doubtnut.com/l/_lOWfoFBfD8b8
https://dl.doubtnut.com/l/_5JkLW2KV9hWT
https://dl.doubtnut.com/l/_SlAnvf4IzIqL
https://dl.doubtnut.com/l/_3QkEQWqeZdQt

° Watch Video Solution

) 2 0 10 N
22. Given A = and I = 01 and A = 94 + ml.

Find m.

° Watch Video Solution

4s5in 30° cos 0°

23. Given matrix A = )
cos 0°4sin 30°

s [ e

write the order of matrix X.

o Watch Video Solution

3 4

1 3 -2 1
24.1f A = { ],B:[ 3 2] and A% — 5B? = 5C. find matrix

C where Cis a 2 by 2 matrix.

o Watch Video Solution



https://dl.doubtnut.com/l/_3QkEQWqeZdQt
https://dl.doubtnut.com/l/_lonnlvGxPG3w
https://dl.doubtnut.com/l/_xh3gtK4P82AX
https://dl.doubtnut.com/l/_fvFWgWc5SjQI

11
25. Given matrix B = [ g 3]. Find the matrix X if, X = B? — 4B.

5
Hence, solve for a and b given X . = .
b 50

o Watch Video Solution

Multiple Choice Questions

1. If a matrix has 4 elements, then which of the following connot be the

order of the matrix ?

A2X2

B.1 x4

C.2x3

D.4 x 1

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_sGAwTgx60E2E
https://dl.doubtnut.com/l/_Ni0JqnJLM2T4

2. The number of elements in a matrix of order 2 x 3 is :

A2

B.3

C.5

D.6

Answer: D

o View Text Solution

3. Which of the following is a row matrix ?

Al 2 3]
(1
B. |2
B
(1 2
C.
13 4



https://dl.doubtnut.com/l/_Ni0JqnJLM2T4
https://dl.doubtnut.com/l/_X8MblgW00D3t
https://dl.doubtnut.com/l/_bHvdl2q7ipfH

O
w N =
S O

Answer: A

° View Text Solution

4. A matrix which has only one column is called a :

A. row matrix

B. column matrix

C. square matrix

D. identity matrix

Answer: B

° View Text Solution

b

a
5. The matrix [
c d

} is known as :


https://dl.doubtnut.com/l/_bHvdl2q7ipfH
https://dl.doubtnut.com/l/_tivyxSpRQl8U
https://dl.doubtnut.com/l/_fKuxRDkKUGgc

A. row matrix

B. column matrix

C.square matrix

D. identity matrix

Answer: C

° View Text Solution

2 y+3
6.n=lmJr vt ]

5 3
; ) — [ ], then the value of (x +y) is :

9 2
AN
B.5
C.8

D.3

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_fKuxRDkKUGgc
https://dl.doubtnut.com/l/_5BmqBa8MpzFj

5 2
7.fA = {4],3: { ] and matrix C = 24 + B, then matrix Cis :

Answer: A

o View Text Solution

-1 0 3 —
8. Given A = and B =
2 —4 -2 0
suchthat A + X = Bis:
2 -3
A.
Ce

B.[: ;3}

] The 2 by 2 matrix X


https://dl.doubtnut.com/l/_5BmqBa8MpzFj
https://dl.doubtnut.com/l/_xaX9tbFEWbjf
https://dl.doubtnut.com/l/_3i0nakg7fjdY

o[,

Answer: B

o View Text Solution

1 2
9.Ifx:l ]+4l
2 —y

andy, are:

3

AL g
19

B. 15, 7

5

Answer: C

|

l 8]’ then the respective values of x

° View Text Solution



https://dl.doubtnut.com/l/_3i0nakg7fjdY
https://dl.doubtnut.com/l/_SMVWztH775zu
https://dl.doubtnut.com/l/_Om78MmM7d2xO

10.f A=[0 1] and B= |1 0], thenthevalueof 34 + 2Bis:

A2 3]
B.[3 2]
C.[2 2]

D.[3 3]

Answer: A

° View Text Solution

2
3 ] , then the matrix M is :

o)

N 0 H &= N 00 H =
— N
[\V)
[



https://dl.doubtnut.com/l/_Om78MmM7d2xO
https://dl.doubtnut.com/l/_8d4hoxCMhH2y

Answer: A

° View Text Solution

12.1f A =

[11
10
10

[11
16
[10
22

Answer: D

|

2 3
4 2

16 ]
16 |
-
17 |
10]
16 |
.
17

1 2
] and B = [3 4], then the matrix BAis :

° View Text Solution

2 3
13.1fA = then A2 =
7 5

4 6
A.
{14 10]



https://dl.doubtnut.com/l/_8d4hoxCMhH2y
https://dl.doubtnut.com/l/_8VXrloo8S6Q8
https://dl.doubtnut.com/l/_tJIEVNL7CFeg

(25 21
49 46

49 25
(25 49
15 46

Answer: B

° View Text Solution

1 2=z 20
14.1f = , then the value of xand y are:

2 9|y 90
Az=10,y=0
B.z =59y=4

Cx=0,y=10

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_tJIEVNL7CFeg
https://dl.doubtnut.com/l/_O3cM6nn2Uz0f
https://dl.doubtnut.com/l/_FBYyYStVlutj

2

15. If )
71

2
]M = L_)] , then the order of matrix M is :

Al x2
B.2x1
C.2x 2

D.1x1

Answer: B

° View Text Solution

16.If A = [_ b] and A? = I,, then the values of aand b are:
a
Aa=b=1
B.a=1,b=0
Ca=b=0


https://dl.doubtnut.com/l/_FBYyYStVlutj
https://dl.doubtnut.com/l/_eKpl9rurb8m5

Answer: D

° View Text Solution

2 x 4 36 9
17.1f A = 01 , B = 01 and A° = B then the value of x is :

A 12
B.6

C.36

Answer: A

° View Text Solution

6

2
18.If P =
39

3
1,@ = l ;] and PQ is a null matrix, then the value
)

of xand y are:


https://dl.doubtnut.com/l/_eKpl9rurb8m5
https://dl.doubtnut.com/l/_T24ElFqxh6xR
https://dl.doubtnut.com/l/_vdERwDlWDT83

Az= —6,y= —1

Bz = —6,y=1

Cxz=6y= —1

Dz =6,y=1
Answer: A

o View Text Solution

19. The simplified from of

cos 45°, sin30° sin45°, cos 90°
v/2c0s0°, sin0° | | sin90°, cot 45°

A

T 1
= O
_

(@)
1
OO H H R = O
'—l
| I |

T 1
o O
S

Answer: B

|

IS :



https://dl.doubtnut.com/l/_vdERwDlWDT83
https://dl.doubtnut.com/l/_U3M3kDAnbWCX

° View Text Solution

3 9
20.1f A = {7 2] and | is an identity matrix of order 2, then the value of
A+5lis:

A (3 14
112 2
8 (3 9
| Ta 2
c (8 9
LT
5 (8 14
112 7
Answer: C

° View Text Solution

-2 3 5 2
21 If A = and B = , then the matrix C such that
4 5 7 3

A+BC=0is:

A.ﬁ?) Z]


https://dl.doubtnut.com/l/_U3M3kDAnbWCX
https://dl.doubtnut.com/l/_lavjZyNS6sxl
https://dl.doubtnut.com/l/_qk7vHanh631F

3 -8
(11 —2
11 -2

3 —8
D.
3 —8}

(-3 5 ]
B.

Answer: A

° View Text Solution

3 4171 y 7 0
22.1f 2 5 o = , then the values of x and y are :

01 10 5
Ar=4,y= —4
B.x =2,y= —8
Cx=2y= —4
Dz =4,y= —8
Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_qk7vHanh631F
https://dl.doubtnut.com/l/_HXO9xLxmDSo1
https://dl.doubtnut.com/l/_HXLZxCKtHGJ4

2
23.f M =[1 2] and N = [1}, then the order matrix MN is :

Al x2
B.2x1
C.2x 2

D.1x1

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_HXLZxCKtHGJ4
https://dl.doubtnut.com/l/_wWGGKI8qDklx

Answer: C

° View Text Solution

-3 2 x -5
25.If s = then the values of xand y are :

0 2 Y
Az =3y= —10
B.x = —3,y= —10
Cx= —3,y=10
D.z =3,y =10
Answer: A

° View Text Solution

19 7 3
26. The order of the matrix | 5 4 —2 11| is:
2 -1 -8 6

A3 x4


https://dl.doubtnut.com/l/_wWGGKI8qDklx
https://dl.doubtnut.com/l/_8eWBT6RHGxjl
https://dl.doubtnut.com/l/_a4wfjyw8k5C7

B.4x3

C.3x3

D.4 x 3

Answer: A

° View Text Solution

27.The number of elements in the matrix

2 5 19
35 12 1
2 is :
V2 1 7
1 2 3
A.8
B.12
C.15
D.9

Answer: B


https://dl.doubtnut.com/l/_a4wfjyw8k5C7
https://dl.doubtnut.com/l/_qOWfpKPU41rX

° View Text Solution

0 0 4
28.The diagonal elementsinthe |0 4 0| are:
4 00
A0,0,4
B.4,0,0
C.0,4,0
D.4,4,4
Answer: C

° View Text Solution

29. The matrix [P],_ . is a square matirx, then which of the following is

correct ?

Am=mn



https://dl.doubtnut.com/l/_qOWfpKPU41rX
https://dl.doubtnut.com/l/_nI2pq4rer7YP
https://dl.doubtnut.com/l/_d5Nu3xBuYJ1T

B.m>n

Cm<n

D. None of these

Answer: A

° View Text Solution

4 —1
30.1f = lz 1 ], then (A + 2I)(A — 3I) is equal to :

NEE
8 -8

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_d5Nu3xBuYJ1T
https://dl.doubtnut.com/l/_YEKt7LDxIeUK
https://dl.doubtnut.com/l/_2SP0L0GAxa8F

-3
g ] and A%2 — 54 + 10I = 0, then the value of ks :

Cc.4

D.6

Answer: C

° View Text Solution

1
32.1f A = { 5] and A? + 2T = yA, then the value of x is :
A —8
B.—4
C.4

D.8


https://dl.doubtnut.com/l/_2SP0L0GAxa8F
https://dl.doubtnut.com/l/_wPpaol0h17RD

Answer: D

° View Text Solution

1 0
33.1f [z 1][_2 O] = 0, then the value of x is :

A.O

B.1

C.2

Answer: C

° View Text Solution

—1 2
34.IfA:lZ ]a,ndB:[

3

correct ?

1
4}, then which of the following is


https://dl.doubtnut.com/l/_wPpaol0h17RD
https://dl.doubtnut.com/l/_QK5Q04F1IAzf
https://dl.doubtnut.com/l/_Z5uPieprJDGp

A AB = {7 ‘1]

9 22
1 _
B. BA = 6 g
39 25
C.AB = BA
D.AB # BA
Answer: D

o View Text Solution

5 2
24 + 3C = 8B, is:

7 3 2 5
35. If A = and B = 45 then the matrix C such that

NS
|22 36
S

3 3

B2 s
L 3 3 4
3 3-

3 3

Cla o
L 3 3 4

o
11 18

Answer: B


https://dl.doubtnut.com/l/_Z5uPieprJDGp
https://dl.doubtnut.com/l/_Ef2gqzZjod6z

° View Text Solution

36.1F | 7 4 5w then the value of (z + y + z + w) i
. = en e value or (x z w)iIs:
246 z+y] |06 Y

A.O
B.4
C.6

D.8

Answer: B

° View Text Solution

Multiple Choice Questions Fill In The Blanks

4 2
1. Given l 1 ] M = TI. IfI is matrix of order 2 x 2, then the order

of matrix M is ...


https://dl.doubtnut.com/l/_Ef2gqzZjod6z
https://dl.doubtnut.com/l/_dwRRSEcwMtuG
https://dl.doubtnut.com/l/_TTq3ifxbAE0E

A2 X% 2

B.2x1

C.2x3

D.3 x3

Answer: A

o View Text Solution

1 2
1 2
2.I1‘A=l3 4] and B= |4 5|, then ABis ............
3 6

A. 2 X 2 matrix
B. 3 X 2 matrix
C. Not possible

D. 2 x 3 matrix

Answer: C

| e


https://dl.doubtnut.com/l/_TTq3ifxbAE0E
https://dl.doubtnut.com/l/_6umgronWLKvG

I & View Text Solution

IS ...

o 4sin30°, 2cos 60° ][4 5
3. The simplifed from of

sin90°, 2cos 0° 5 4

[14 137
12 14

[13 147
14 13

[14 147
13 13

[13 13 ]
14 14

Answer: B

° View Text Solution

3 1
4.|fA:l ) 2],thenA2+5A= ..........

(23 10
10 13

(10 23]
13 10

23 10]
10 23

A.



https://dl.doubtnut.com/l/_6umgronWLKvG
https://dl.doubtnut.com/l/_3RMQpr7y0499
https://dl.doubtnut.com/l/_QFWQfTWglBiT

23 10
D.
l—m 13]

Answer: D

° View Text Solution

2 12 4 x , ,
5If A = ,B = 01 and A° = B, then the value of x is

B.30
C.36

D. 40

Answer: C

° View Text Solution

Multiple Choice Questions Assertion And Reason Based Questions



https://dl.doubtnut.com/l/_QFWQfTWglBiT
https://dl.doubtnut.com/l/_cS8TJxNILZQK

1. Assertion Let

0 0 — 2 _2
A:lp ],B:l q] andCl ]IfAJrB:C’, then the
0 2 2 0 2 2

value of p and q are 2 and 2 respectively.

A.Both assertion and reason are correct and reason is the correct
explanation of assertion.

B. Both assertion and reason are correct but reason is not the correct
explanation of assertion.

C. Assertion is correct but reason is notcorrect.

D. Assertion is incorrect but reason is correct.

Answer: C

o View Text Solution

m-—n 6

2
2. Assertion Let A = 3 and B =
7 5 14 m+n

].If2A:B,

thenm=7and n =3.


https://dl.doubtnut.com/l/_QaCwI6fC86CJ
https://dl.doubtnut.com/l/_OLKlvNOg2ERr

Two equal matrices have the same order and their corresponding

elements are also equal.

A.Both assertion and reason are correct and reason is the correct

explanation of assertion.

B. Both assertion and reason are correct but reason is not the correct

explanation of assertion.

C. Assertion is correct but reason is notcorrect.

D. Assertion is incorrect but reason is correct.

Answer: A

o View Text Solution

1
3.Assertion: | 2 | isarowmatrixand [1 2 3] is acolumn matrix.
3

Reason : Matrix having only one row is called row matrix and matrix

having only one column is is called column matrix.


https://dl.doubtnut.com/l/_OLKlvNOg2ERr
https://dl.doubtnut.com/l/_sIbSMEYPzxhz

A.Both assertion and reason are correct and reason is the correct

explanation of assertion.

B. Both assertion and reason are correct but reason is not the correct

explanation of assertion.

C. Assertion is correct but reason is notcorrect.

D. Assertion is incorrect but reason is correct.

Answer: D

o View Text Solution

1 2
4, Assertion : If

2
3 4]X: [11, then the order of matrix Xis 1 x 2.

Reason : The product AB of two matrices A and B is possible if number of
columns in A is equal to the number of rows in B. Also, the order of the
product matrix AB is number of rows in AX number of columns in B.

A.Both assertion and reason are correct and reason is the correct

explanation of assertion.


https://dl.doubtnut.com/l/_sIbSMEYPzxhz
https://dl.doubtnut.com/l/_J5Kwbd16KN4D

B. Both assertion and reason are correct but reason is not the correct

explanation of assertion.

C. Assertion is correct but reason is notcorrect.

D. Assertion is incorrect but reason is correct.

Answer: D

o View Text Solution

5. Assertion : If A, B and C are square matrices of order 2, then
(A+B)+C=A+(B+0).
Reason : Addition of matrices is commutative.
A.Both assertion and reason are correct and reason is the correct
explanation of assertion.
B. Both assertion and reason are correct but reason is not the correct
explanation of assertion.

C. Assertion is correct but reason is notcorrect.


https://dl.doubtnut.com/l/_J5Kwbd16KN4D
https://dl.doubtnut.com/l/_naRAl8GMgeUJ

D. Assertion is incorrect but reason is correct.

Answer: A

o View Text Solution

6. Assertion : If Aand B are square matrices of order 2, then AB = BA is not

always true.

Reason : Matrix multiplication is associative.

A.Both assertion and reason are correct and reason is the correct

explanation of assertion.

B. Both assertion and reason are correct but reason is not the correct

explanation of assertion.

C. Assertion is correct but reason is notcorrect.

D. Assertion is incorrect but reason is correct.

Answer: B

[ - 1


https://dl.doubtnut.com/l/_naRAl8GMgeUJ
https://dl.doubtnut.com/l/_AymSa4yXMkdU

| @ View Text Solution J

Multiple Choice Questions Competency Based Questions

1. Three friends decided to study the chapter matrices in a group. For this,

they wrote three different matrices of the same order 222 and learn to
perform different matrix opertions to understand its consept. The three

matrices written understand its concept. The three matrices written by

th A 2_1B -3 2 dC’—10
emare—20,—40an_02

On the basis of above information, answer the following :

If a matrix X of order 2 x 2issuchthat X = A + B — C, thenX =

[0 1
A 2]
4 37
B.__2 2
- -
C._6 iy
4 03 7
D.__2 =y
Answer: C

[ = )|


https://dl.doubtnut.com/l/_AymSa4yXMkdU
https://dl.doubtnut.com/l/_HODOUU5xTMWO

| @Y View Text Solution J

2. Three friends decided to study the chapter matrices in a group. For
this, they wrote three different matrices of the same order 2x2 and
learn to perform different matrix opertions to understand its consept.

The three matrices written understand its concept. The three matrices

. 2 -1 -3 2 10
written by them are A = , B = and C =
20 4 0 0 2

On the basis of above information, answer the following :

If Y is square matrix of order 2 such that Y = 2B2, then Y =

[34 —12
A.
| —24 16 1
[18 8
B.
132 0
(9 84
C.
116 O
[17 —6
D.
112 8
Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_HODOUU5xTMWO
https://dl.doubtnut.com/l/_AgKbgncSi2dc
https://dl.doubtnut.com/l/_MS4DtroUl2FD

3. Three friends decided to study the chapter matrices in a group. For
this, they wrote three different matrices of the same order 2z2 and
learn to perform different matrix opertions to understand its consept.

The three matrices written understand its concept. The three matrices

2 -1 -3 2 10
written by them are A = , B = and C =
20 4 0 0 2

On the basis of above information, answer the following :

If Z=3A —4C, thenZ-=

(2 3
A.

L 6 8}

(2 —3
B.

L 6 —81

[—2 3
C

| —6 81

-2 3
D

L 6 —8}

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_MS4DtroUl2FD

4. Three friends decided to study the chapter matrices in a group. For
this, they wrote three different matrices of the same order 222 and
learn to perform different matrix opertions to understand its consept.

The three matrices written understand its concept. The three matrices

itten by th A 2 -1 B = -3 2 dC—lO
written y em are = 2 0 y = 4 0 an = O 2

On the basis of above information, answer the following :

If M = A? — 2I, then M =

90 17

A._2 _1_

e

B. _4 _4_

9 91

C. _4 _2_

0 2

D. _4 _4_
Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_0RAKCp1b8mZf

5. Three friends decided to study the chapter matrices in a group. For
this, they wrote three different matrices of the same order 222 and
learn to perform different matrix opertions to understand its consept.

The three matrices written understand its concept. The three matrices

itten by th A 2 -1 B = -3 2 dC—lO
written y em are = 2 0 y = 4 0 an = O 2

On the basis of above information, answer the following :

If N is matrix of order 2 such that 8 + 2N = 3C, then N =

"3 1
A.__2 3 _
"6 9
B.__4 6
"0 T
C.__2 3 |
"0 9
D.__4 6 |
Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_GaJ0T1X66eWI

6. While taking revision class of mathemeatics on the chapter matrices, a

teachter wrote the following matrices on the board.

1
A—2B—763C—10D—123E—OOI
_3’_[ ]’_01’_456’_00’

After writing these matrices on the board, the teacher asked the
following questions :
Which of the following matrices is a row matrix ?

A A

B.B

C.C

D.F

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_iFxqcdJYodEI

7. While taking revision class of mathemeatics on the chapter matrices, a

teachter wrote the following matrices on the board.

1
A—2B—763C—10D—123E—OOI
_3’_[ ]’_01’_456’_00’

After writing these matrices on the board, the teacher asked the
following questions :
Which of the following matrices is a column matrix ?

A A

B.B

C.C

D.F

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_AeB3TUpcunKb

8. While taking revision class of mathemeatics on the chapter matrices, a

teachter wrote the following matrices on the board.

1
A—2B—763C—10D—123E—OOI
_3’_[ ]’_01’_456’_00’

After writing these matrices on the board, the teacher asked the
following questions :
Which of the following matrices is an identity matrix ?

AG

B.D

C.C

D.E

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_eiXQmctxQKDS

9. While taking revision class of mathemeatics on the chapter matrices, a

teachter wrote the following matrices on the board.

1
A—2B—763C—10D—123E—OOI
_3’_[ ]’_01’_456’_00’

After writing these matrices on the board, the teacher asked the
following questions :
Which of the following matrices is a rull matrix ?

A A

B.B

C.C

D.E

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_zCoM08hj6Z8s

10. While taking revision class of mathemeatics on the chapter matrices, a

teachter wrote the following matrices on the board.

1
A—2B—763C—10D—123E—OOI
_3’_[ ]’_01’_456’_00’

After writing these matrices on the board, the teacher asked the
following questions :
Which of the following matrices is square matrix ?

A A

B.B

C.D

D.F

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_CMriJDdjecUp

11. A matrix is an ordered rectangular array of elements (numbers). The
plural of matrix is matrices. The elemnts in a matrix are arranged in rows

and columns. Consider the following matrices :

AP 2l g ["2 7] o[t —23
R el PR e P |

-1 2
10 2
D= 4|,E= F=|"|,a-=
. Ll o s r=[i] o=t

Now, answer the following question

The addition of whcih of the following matrices is possible ?

A.A,BandE

B.Aand B only

C.CandD

D.Fand G

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_camsKBTcNrX3

12. A matrix is an ordered rectangular array of elements (numbers). The
plural of matrix is matrices. The elemnts in a matrix are arranged in rows

and columns. Consider the following matrices :

AP 2l g ["2 7] o[t —23
R el PR e P |

-1 2
10 2
D= 4|,E= F=|"|,a-=
. Ll o s r=[i] o=t

Now, answer the following question

Which of the following multiplication of matrices is not possible ?

A. AB

B.CD

C.FG

D. EG

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_0YhQai97XMmq

13. A matrix is an ordered rectangular array of elements (numbers). The
plural of matrix is matrices. The elemnts in a matrix are arranged in rows

and columns. Consider the following matrices :

AP 2l g ["2 7] o[t —23
R el PR e P |

-1 2
10 2
D= 4|,E= F=|"|,a-=
. Ll o s r=[i] o=t

Now, answer the following question

Which of the following matrices is possible ?

A F?

B. G2

c. A?

D. C?

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_lQ9wWX8W9n2Q

14. A matrix is an ordered rectangular array of elements (numbers). The
plural of matrix is matrices. The elemnts in a matrix are arranged in rows

and columns. Consider the following matrices :

AP 2l g ["2 7] o[t —23
R el PR e P |

-1 2
10 2
D= 4|,E= F=|"|,a-=
. Ll o s r=[i] o=t

Now, answer the following question

2 —2

ra-|
-2 2

] and A% = xA, where x is any number, then the

value of x is :

C.2

D.4

Answer: D
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15. A matrix is an ordered rectangular array of elements (numbers). The
plural of matrix is matrices. The elemnts in a matrix are arranged in rows
and columns. Consider the following matrices :

1 2 -2 —
A= B = o= |t 723
3 4 9 76 4

-1 2

10 2
D=0 4|,E= , F'= ,G=1[0 1]
0 3 1
3 1
Now, answer the following question
(2 0 4 4
fP+Q= 0 2} and P - Q = [4 4}, then matrix P =
3 9
A
2 3]
o 47
B.
14 2]
6 47
C.
(4 6]
1 97
D.
_2 1_
Answer: A
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